W5 EVLVF (3#GE)
L= 554F
@I THITEE [scay BARR(PILI)ERR]

105 E2[Z [130] 10.5
125  ttEl0s] o5
ey
o/ligig x
e il 7 LA L
= 2 7307873078:307 |
=3 25| Az les
g Al135] | #BA156] 4] Al1as)
| 7771727777 T
=
I
T
=)
(D[25] g (D[25)
o ] ALl FL
- =l 1 tie—
| | S
49 | 49
(@ [29] 98 (@[29]
121
[FR5ERE]
EAMB(PILE) BERA 171
i BeRIA[171]
[32.5] 30 8 30 8 30 D[325]
=t
@[36.5] 98 @[36.5]
121
[PR4EAs]
CEBABE(TILI) #BRA 186
£ R4 [186] .
D[40] 30 8, 30 8, 30 (D[40]
: o FL o
PRI s
@[44] 98 @[a4]
121
[PR4EAk]
-EH%IE(J L) .83 [156] ]
(M[es] 30 8 30 8 30 ([25]
%
: i L [FL 2
@N175] | 605 | ‘605’ | @75l
121
[FR#AL]
- BEE(—)
_ #8232 [156] _
®[25] ®[25]

#[ JAIFRRIA1B5BDEEDEATT .

<EBFOES>

#RIA171-186DG/F TEHRER ZECEREE L. ZH
-
-
i i ——
MAGY—N—FT 43
SOBE A X FHT =]
SAZENBIFRHENRES @
YET, FEIEPTO2E
TERCEAL, W
EARTER
5LE L (3R]
WIETR 243
Hit&[ wibw) 2.433(814)
(mm) [ EHMEOTE 1,570
HEEF 20
H(DH] 2.033(1.975)
YA ZFEOFMIOVTE BREN-VEISBILE L,
TEMRIbER
PR 156 171 186
EIE 130 145 160
15 (116~130) | (131~145) | (146~160)
T 105 120 105
A 135 21 285
T B 19 265 34
C 95 102.5 110
DW, BB O, DH T EEHARK
SEV FBRE)
DW=W/3+3
DH=H—58
EHEO=2W/3—52
HENMGIE
T | BE4 7| BfEE | O | @ | @
. 7 H5A156 | 25 29 —
%%ﬁ’fj - ?t}im 325 | 365 | —
- #EIAIB6 | 40 a4 —
R5ERS FFEiAIS6 | 25 | — | 175
EMBE mear (a5 | — | %
(Fuz) HERL '
2BA186 | 40 — | 325
- BBIAIS6 | 25 — —
FRiEBS [ﬁ%’%) RBEIAMTL | 325 | — —
2:HiA186 | 40 — —
O
15
18.5 DW<=ws3+3 45 HREIO=2W/3—52 24.5
wn
o
i
A 1
i 4
w3
c'!

DW=ws+3
15

13

E2/F [130]

13



